Mﬁ kiamé_

——e Date.

DieFERENTIATION Ty EL)

—————

I. ’Di-c-gerenl:\ajc& the Dnl\csmig.
) = (Bb-3t)(2- 242 43

3_3 _p(u%: An+5 '

2) 4= 205 (1m2a)

|
l
J=iiy™ ’
7 L
3) %-’- (‘}La“' "4{‘5; +5> : Q) 4= {—_/3 (4{:-55143
D 8= () (ad sy ) gz X
e
. /3N |
535“(!_%> [u) £y = 3x+ 3
Q) 4= ( i'l; )hl , '33 4= (.'1&4'35.“-31(_—1’"
‘Y_‘_
: ] 1314_ /a
' ia) a: /‘LIE_ + 32
o Al
B Toinlic TN
S+ AT o3 "-‘% G [ arb _ AP
(1._7; '97r/, (7 +7£)Z =) 3 ( | (1= TSR b~ (o
= T o(F- *p
EﬂEQW AL .77 Q::n I __:;3"1-:‘,%‘ =ﬁ? (\S

%= =

3t

Qor:-'x«z,t'-n-xu Q€+x o

SN L TS 1) ¢ | L) SE+R) e.C') T =00

i %

S <g+5}8)v(9 +5 -2 < F ¢

G™-1) ~
EroyereE S @
4
Oi'f?tl—t?sf,_g?hz_‘}gb * &p &'

o5 g5 s 3

|
|
:L’?‘"]"I)E -?'g(slﬁ 371-,"3T +|)7g . (‘"7?1 (L ;



D Wz (54 -3¢0 (2307 -Lg3)
%:? = (5-6t) (2-3¢_et®)+ (st-3¢C") (¢t /&)
= 10 —Ist2-30 - 12t F I 436t ~ 30t s G pdd ¢ copt

= Qot® -84 -45tT~j2t + 16

) fuy: it
o pEY, n
Hlu):-‘ 3 (1-w?) + (3 1)

k_ l-wz)l

< 3-3nt + 6P tlow
{ ’-wl)z
_ BWL'*‘ Jo~"3 b 4 ;
o T _Wa)l
< By (wes)
‘._hl-w’«-JT

thig step

- (% - ,—k“iﬂs)( < (38 48 = ¥ recessary



4) 9tx) = (A3} (=5 )} 2
5 ) - 4x-437 on (20d-s) 4 (43)h 3(d-6) % 6
= 9 (a3 (0-533 + Bt (42 (23-5%
= 2 (P t3y (P o) [4aoP-5) +qu (1) ]

= 20 (P 3)3 Qo3 -5 ({x3-20 + 9nd + 2x )
=20 (2 ) (o 43) (1T 274 20 )

5) v (BN ’ B

L-7x

4 Sy \* 2(1-x) = DR
.5 () ¢ s

(= )R
5(8a%) x 3 -37% + 3x)
T (1ot (|-'>T):_——
— HSx* ()
T (X)E
_ st

(-%) ©



) U‘(ﬁ

’?\“5)
ol ety 7
3

)
dy - 20 5 ) x2n «9n" — (/x-\) e Jofx "

Dol st sSEh A
- TR
Arx R

1x
slad (x2-5) — Jodot lex>-5 V

d /o™

:35"\6' E}((qf .;—)_,_B(zx-g-)zf?l' S’))
_ _ffq-""
= 4= Bx5)) KEs )
P
~ 4 (- 3xraic) (oc -5
—-frf“f
o (et t1S) (95 |
o=

o O (2‘7(~£ LD (r;"l.q)
v

t




D hlw) = [Qw - 30107277
Al ) s ; 3 N
W 41?&/"3({-60\/7)2] X Ci_.-é,(l-—évuj)‘x-ﬂ.l WL]
= Z6L00 -3 (0 NP 4 1008w (1L C B 30T
=36 G 3 (LT )? (H 28w (16w D)

=30 T =3 (4P (4 et —168w)



$) (O-_ x* (sx-3)2 (1-27)° g
At fumd =o® (sx-33% 2 (Y - b7 (cx-3)" #x* x2(5%3) x§
=60 ) x5y

G = (t-2x P = 2x5 (sx-3) [3(54-3) 4 5 )
Oy 5 (11%) % -2 = 2 (-3 (1599 457 D
= -1y ((-24)* = ZxS ($or- 35 (2o~

y'= - 54

e 7,0(rf<oc*3)(zwx—ﬁ') (=227 4 (o0) (1= 2 )* ?(é(qq_?)z

i MKG
%S

- /
= 200 (- 3) (1-3x ) L(zooc-—ﬁi)(z—za) t E5%) (x- 3
= Q'Xq(gqﬁ,) (-2x)Y (20/;(-—4043'-‘? + )X =254t +15 )

= 2A% (§x-3 ) (1-2x)% é.é’ixxl +S30k =G )

—

= =2x5 (3 (-20%) (5™ =5 20 t9)



1 u\);ff (9(-5)?5

A
|

i )
;2{ 3 -é—'tl(ﬂét—%ﬁ + 13 ’c}%(#t"'i) X 4

2 2
S 4t - \S L
US43 w4

-
—

3 3 (t-s)s
(4’-(-—3)% i \3.{:-‘;

- 3th 5 (45 )8

2

. (Qtﬁg.)}f(_q,(-y)%f 3_{3{'« 3
245 (q€-5)7
(j’_’(’-&‘)-{- Ot
%f‘} (¢t -s)f

— -5
2t3 (‘hﬁ-s')‘f

-—




#%
o) m ARsla
ﬁ \J2o¢ - X
1 | e - \
ol ) )(20(‘*0()‘-— K v (2 ) * x(4x-1)
dx ©

(= -x)*"

= (20{ = (‘ = Fa bt ) x (4o r))

—
e

———

2'7(* X

= (2%’” fx)"'? [3_(3"__’_’5_) = x(dml)

(29~ x )
G- = LK g
2 { g 7()\
- - X

3
- (fo?"r—/K ) =



1) Qa.) = (37(\‘%)( M
.f

4‘(0‘).. (,)\_,,,
- 2
fo = 2 G+ %)* <(3-f)(>

s
> — e
)y ) e -,
9 = (273) (=34 o)

E! - 2( - X — ’?( 2 4 (2‘7{7"%)(-—'-(('%‘-:(?)-%’( (_24-_3)
_ (( 3ex ’)(J ['2 -.1'(‘29”3) ([ - '7(1) ]

- (l_@ry ’X‘) (2 1 (zx43)*

2 (i-m-x*)

T "?«-fxzﬁ x4( [-34- 23y = (2x+3)°
| 2 (- 3%-%")
- |2 —Hot = (a4 ;2¢r_r4.)

2 (1- 3x ""’7(19"- ————

- IH <24 —S
L (J-3=4")5

- %Z‘FZ"‘?« N

-— _____-—-.-__—

2 03k







